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1. Find the solution of the differential equation
a(dix/det)+ b(dx/dt) + cx = gdosat ,
()ifb=0,g=0, dndac £0. (10%)

(i) if g= 0, and abc £ 0, (10%)
(iif) abega #£ 0. (10%)

2, Show that
V(A*B)=AX (VXB)+BX(VXA) +(A*V)B + (B*V)A,
(10%)
3, Pind the value of the integral§} A*da, where A =xi-yj+zkand S is

the closed surface defined by the cylinder ¢* = x* + y*. The top and bottom
of the cylinder are at z=d and 0, respectively (10%)

4. Find the eigenvalues and the correspohding eigenvectors of the matrix

101
(o 1 o,)
1o 1/ . @m)

5. Obtain the Fourler serles representing the function
‘ F(t)= { 2o <t<0
sinot 0<t<2w/o. (10%) .

6.Show that [i(sinx/x)dx = /2.  (10%)

7.Legendre’s differential equation may be written in the form
(L-X)dP (Y] - 2x[dP.(x)/dx] + nn + 1)P.(x) = .

Show that [3P.(x) Pax)dx =0, form#n. (10%)




